

Report

Yui Hatanaka

+ Yesui Baatar

$$|\|x\| - \|z\|| \leq \|x - z\|$$

↓ Proof

$$\|x\| = \|x + z - z\|$$

then, we put $A = x - z$,

$$\|x\| = \|A + z\| \leq \|A\| + \|z\|$$

$$\|x\| \leq \|A\| + \|z\|$$

$$\|x\| - \|z\| \leq \|A\|$$

$$\|x\| - \|z\| \leq \|x - z\| \quad (1)$$

on the other hand,

$$\|z\| = \|z + x - x\|$$

then, we put $B = z - x$.

$$\|z\| = \|B + x\| \leq \|B\| + \|x\|$$

$$\|z\| \leq \|B\| + \|x\|$$

$$\|z\| - \|x\| \leq \|B\|$$

$$\|z\| - \|x\| \leq \|z - x\| \quad (2)$$

$$\left\{ \begin{array}{l} \|x\| - \|z\| \leq \|x - z\| \quad (1) \\ \|z\| - \|x\| \leq \|z - x\| \quad (2) \end{array} \right.$$

then, we can say $\|x - z\| = \|z - x\|$.

so, we can get $|\|x\| - \|z\|| \leq \|x - z\|$.